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fAM NEH

2 ANEH FUHIANEAES 235
el KIFO FoIME X (a2
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
N&EH 540,651 575,600 A 34,949
NEH FOUH™HMHAES 235 164,782 197,821 A 33,039
NEH =018 X2 164,782 197,821 A 33,039
NEH =0 20 HH 62,490 62,490 0
301 et A= 62,490 62,490 0
05 -2l -&sEs8aa3 61,490 61,490 0
O0l &Y 200,000& 1821 x12& 43,200
Ool#AaH= 200,000& x1821 23| 7,200
O3lo &t 20,000& 1801 %23| x12& 8,640
OBt eS| 50,000& *49Q1 2,450
10 HAIAHIBEAZS 1,000 1,000 0
Ou=xs % AL & EAX &Hl 24
1,000, 000& * 14! 1,000
NEH HAF 29 22 31,489 63,528 N 32,039
101 o1 24| 2,094 2,028 66
04 JIZHMZ2=Zz NS 2,094 2,028 66
OosXaa dEa 34,900& 202130 2,094
201 B2 HH| 20,895 21,500 605
02 =294l 20,895 21,500 A 605
O2322 2 HA 12,395,000& x 14! 12,395
Od=H| 6,000,000 * 14 6,000
OAlA& &Y KX 2,500,000& * 14 2,500
401 AlEHIZLL20H] 8,500 40,000 A 31,500
01 Al&H| 8,500 40,000 A 31,500
OUAIRA €& B2 AH(Z2oHIlol) (L=20m H=2
.4m) 8,000,000 * 14 8,000
OXlotal 2 H DM BA 500, 000& *14] 500
ANEH 8y X 62,803 63,803 A 1,000
201 B3| 23,603 23,603 0
01 At22tell 15,603 15,603 0
Odet=2H| 13,603,000& =14l 13,603
oag=¢ 2,000,000 =14 2,000
02 s394l 8,000 8,000 0
ORERZ 3,000,000 * 14 3,000
OXtE= XYl 5,000,000 * 14 5,000
202 (4l 39,200 40,200 A 1,000
01 2| 39,200 40,200 1,000
OJ12g24=s0id|(1401) 3,920,000& x10& 39,200
XFe AY pel N 8,000 8,000 0




M NEH

2 XNEH FOHIANEAES 23
el RIFO FoIME X (el a2
SN (B) - MBEAY - B2 0l aF ol Soe HRZ2
405 XH&HFE SHI 8,000 8,000 0
01 XA 2 EF SH| 8,000 8,000 0
ool zze| | 8,000,000 * 14 8,000
NEH ALY Fh| 305,994 305,877 117
NEH ARD2 FO=JAH 305,994 305,877 117
A2 FO=JAAS 302,160 302,160 0
401 AlEHI Y20 302,160 302,160 0
01 Al&H| 300,000 300,000 0
OAR2 FOUSAAIY L XSIMEAS
300,000,000 = 14! 300,000
03 Al 20Hb| 2,160 2,160 0
OAIE 20l 300,000,000& %0.72/100 2,160
NEH &2 JH| 3,834 3,717 117
101 Q1A H| 3,834 3,717 117
04 JIZHMIZ2ZANSE 4 3,834 3,717 117
OS2H #3FY L Maz
42,6003 x9021x10 3,834
NEaH #H2FEH| 69,875 71,902 N2,027
NEH ol 2A | 44,957 46,634 N1,677
AN&EH ol 2HH| 44,957 46,634 N1,677
101 o1 21H| 33,557 35,794 N2,237
01 B 33,557 35,794 N2,237
OANZIIZ 24 7,457 3 *1521x300A] 2+ 33,557
203 HRF=&H| 11,400 10,840 560
01 D22 PR F=AH| 6,600 6,000 600
OJ2S2HLRFAY| 6,600,000& 10! 6,600
02 HJAIMMH =AY 600 640 A40
O JAINNE R =R 40,000& 1501 600
04 2EASIEYRF=EHI 4,200 4,200 0
ORNSHYRFAHY| 350, 000& x12& 4,200
XN&EH JI=2& | 24,918 25,268 A 350
NEH J|2Z3H| 24,918 25,268 A 350
201 LBt29H| 7,028 7,028 0
01 AtR2teldl 7,028 7,028 0
OFEN2E &b 3,500,000 =14 3,500
(OF=1=1s] 7,000& 1401 %33| x12& 3,528
202 (4| 9,840 8,840 1,000
01 2Wodbl 9,840 8,840 1,000
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g NEH #F
el ANEE J12

bl (ctel &9
- _ = ME
SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ofl At ot HwsZ

OJ12L2230{H(1401)  3,920,0008! »2& 7,840
o=l ol 2,000,0008 *14] 2,000

405 XtakE S| 8,050 9,400 A1,350

01 AL SE3 S| 8,050 9,400 21,350
OPC 1,300, 00024 #5CH 6,500
OCIXIgtoilet 300,000 *1CH 300
oy 150, 0008 *5H 750

OulF I 500,000 1CH 500




